Clue 2 — The Mirror Cracked from Side to Side
“There’s a pleasing symmetry about this code,” remarked the
Inspector after many hours puzzling.
“How does it work?” inquired Smithkins, his assistant.
“You start looking through the letters for one with 1 line of
symmetry,” he explained. “When you have found one, you then carry
on till you find one with 2 lines of symmetry and then another with
one line and so on.”
“What has 8 lines?” asked Smith.
“She can’t have been really good at Maths — it means O but there’s a
lot more than 8 really.”
“Better not drop my mirror while I’'m working this out!”
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